SITEID : IBM (IBM T. J. Watson Research Center / Columbia University, submission ID: IBM_3)
Experiment ID :IBM_MEDI1_MEDI1I1TEST_MEDFull_AutoEAG_c-SEMBASE_2

Events Processed : E006 (Birthday Party), EOO7 (Changing a vehicle tire), EOO8 (Flash mob gathering),
E009 (Getting a vehicle unstuck), E010 (Grooming an animal), EO11 (Making a sandwich), EO12 (Parade),
EO13 (Parkour), E014 (Repairing an appliance), EO15 (Working on a sewing project)

Scoring Parameters|Cost False Alarm|Cost Miss|Prob. of Target
Value 1 80 0.001

Analysis Report|#Ref| #Sys|#CorDet| #FA|#Miss| Act. PFA| Act. PMiss|Act. NormCost|Min PFA|Min PMiss|Min NormCost|Det. Score

E006| 186|31821 91| 730 95| 0.0231 0.5108 0.7989| 0.0165 0.5430 0.7487| 09117

E007| 111|31821 53| 984 58| 0.0310 0.5225 0.9100| 0.0093 0.6577 0.7734| 09147

E008| 132|31821 92| 496 40| 0.0157 0.3030 0.4985| 00113 0.3258 04672|  0.8961

E009| 95/|31821 49| 937 46| 0.0295 0.4842 0.8530| 0.0085 0.5789 0.6848|  0.9458

E010| 87/31821 381441 49| 0.0454 0.5632 1.1303| 0.0008 0.9310 0.9413|  0.9502

EO11| 140|31821 57(1367 83| 0.0431 0.5929 1.1317| 0.0058 0.8286 0.9015|  0.9303

E012| 231|31821 138| 848 93| 0.0268 0.4026 0.7378| 0.0133 0.4978 0.6643| 09179

EO013| 104|31821 62| 994 42| 0.0313 0.4038 0.7952| 0.0179 0.4808 0.7048|  0.8851

E014| 78|31821 48| 516 30, 0.0163 0.3846 0.5876| 0.0076 04615 0.5567|  0.9250

EO015| 81/31821 321307 49| 0.0412 0.6049 1.1192| 0.0060 0.7654 0.8410|  0.9449

DET for IBM_3 : IBM_MED11_MED11TEST_HEDFull_AutoEAG_c-SEHMBASE_2
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